
MATH180C: Introduction to 
Stochastic Processes II

Lecture A00: math-old.ucsd.edu/~ynemish/teaching/180cA
Lecture B00: math-old.ucsd.edu/~ynemish/teaching/180cB

Week 6: 

homework 5 (due Friday, May 6)

regrades for Midterm 1 and HW4 active until May 7, 11PM

Today: Asymptotic behavior of 
renewal processes

Next: PK 7.5, Durrett 3.1, 3.3

:
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Let Flt) be the c. d.f. of the interrenewal times . Then
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Examples
Renewal process (counting earthquakes in California) has

interrenewal times uniformly distributed on 1-oil] (years) .

(a) What is the long-run probability that an earthquake
will hit California within 6 months ?
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t → • 0

(b) What is the long-run probability that it has been
at most 6 months since the last earthquake ?
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